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012131 45 676 89 :;<= >9?@<A9?B
89 :CA?=@D EB<F
X = 4, 7, 9, 13, 15
p = 4, 37, a, b, 4
M(X) = 9.6116

+
D(X) = 7.6260

012131 45 65 6 8=@D ::B G ?=<9 HEI ?=EB<F
X = 4, 7, 9, 12, 17
p = a, b, 45, 32, 11
M(X) = 9.6693

+
D(X) = 9.7489

012131 45 64 6 >9 ?AEB >9?@<I <D
J<K?L9EB<F
X = 4, 6, 11, 13, 15
p = a, b, 48, 31, 7
M(X) = 10.0645

+
D(X) = 10.2378

012131 45 6M 6 N9 ?OCEB P <C<Q?
>9?@<I <D EB<F
X = 4, 8, 10, 13, 16
p = a, b, 43, 32, 5
M(X) = 10.2314

+
D(X) = 6.2274

012131 45 6R 6 ND <=:B<F S9TU
V E=AQ?=Q<=EB<F
X = 5, 7, 9, 14, 15
p = a, b, 45, 39, 3
M(X) = 9.7955

+
D(X) = 9.7536

012131 45 6W 6 XD;EB P <C<Q? Y:D Z::B<F
X = 4, 8, 10, 14, 15
p = a, b, 46, 34, 3
M(X) = 10.4400

+
D(X) = 6.8704

012131 45 6[6 \]O? 8=?AQ?A<U ^9 :ZEB=?
X = 3, 7, 10, 13, 17
p = 6, 36, a, b, 6
M(X) = 9.9520

+
D(X) = 9.7417

012131 45 6_ 6 SDK? V <D <99 > ?@<I EB<F
X = 3, 7, 10, 12, 15
p = 5, a, b, 36, 4
M(X) = 9.6723

+
D(X) = 6.4220

012131 45 6` 6 V a=@<aA X ZED X BZ:=T:B<F
X = 5, 7, 10, 13, 15
p = a, b, 43, 31, 3
M(X) = 9.9035

+
D(X) = 6.5784

012131 45 67b 6 cad :=CE e :QD
><CQED EB<F
X = 5, 7, 11, 14, 16
p = 6, a, b, 37, 8
M(X) = 10.8712

+
D(X) = 9.6577

012131 45 6776 J ?OaD S9TU ><CQED EB<F
X = 3, 7, 10, 13, 15
p = 2, 33, a, b, 7
M(X) = 10.1736

+
D(X) = 7.1352

012131 45 675 6 P :F?:B? e E9<=? S ZED :B=?
X = 4, 7, 10, 12, 15
p = 8, 36, a, b, 8
M(X) = 9.6279

+
D(X) = 7.2104

012131 45 674 6 ^faKEB Y:I := G :=<AEB<F
X = 4, 6, 10, 13, 17
p = b, 35, 42, a, 7
M(X) = 9.8908

+
D(X) = 10.9040

012131 45 67M 6 e9 :K?=EB 8DQ:I
G I <QD <:B<F
X = 5, 8, 10, 14, 16
p = b, 35, 46, a, 9
M(X) = 10.6923

+
D(X) = 8.4284



012131 45 67R 6 Y:9<B?=EB 89 :CA?=@D
J<K?L9EB<F
X = 3, 7, 10, 12, 17
p = 6, a, b, 31, 6
M(X) = 9.5806

+
D(X) = 8.3241

012131 45 67W 6 YQag?C 89 :CA?=@D?
89 :CA::B=?
X = 3, 8, 10, 13, 16
p = a, b, 43, 32, 5
M(X) = 10.0813

+
D(X) = 7.3918

012131 45 67[6 YaKEB 89 :CA?=@D
89 :CA?=@D EB<F
X = 5, 6, 9, 12, 17
p = b, 32, 41, a, 9
M(X) = 9.3228

+
D(X) = 10.4391

012131 45 67_ 6 h:D :KEB? J ?D Z?D <Q?
89:CA?=@D EB=?
X = 3, 7, 10, 14, 16
p = b, 33, 44, a, 6
M(X) = 10.3411

+
D(X) = 11.3565

012131 45 67` 6 i:D =?=@a J ?D A:9<=a
j a9<a
X = 4, 7, 10, 12, 15
p = 6, a, b, 34, 3
M(X) = 9.4921

+
D(X) = 5.7737

012131 45 65b 6 k <I :=:A J :=@<:Q? k a9<E
YlA?D
X = 5, 8, 10, 14, 16
p = b, 35, 47, a, 10
M(X) = 10.8154

+
D(X) = 8.1351

012131 45 6576 m ?gEB?9EB 8=@D :L
X BZ:=T:B<F
X = 5, 7, 10, 13, 17
p = 9, a, b, 32, 6
M(X) = 9.9752

+
D(X) = 9.0490

012131 45 655 6 m ?gEB?9EB? J ?D <U
X BZ:=T:B=?
X = 4, 8, 9, 12, 16
p = b, 34, 46, a, 8
M(X) = 9.5276

+
D(X) = 6.9736

012131 45 654 6
X = 4, 7, 11, 13, 16
p = 2, 33, a, b, 9
M(X) = 10.7295

+
D(X) = 8.0170

012131 45 65M 6
X = 5, 7, 9, 12, 15
p = 5, a, b, 35, 2
M(X) = 9.2583

+
D(X) = 4.9249

012131 45 65R 6
X = 5, 7, 10, 12, 16
p = 4, a, b, 31, 3
M(X) = 9.5645

+
D(X) = 5.2458

012131 45 65W 6
X = 4, 6, 9, 13, 15
p = 7, a, b, 33, 6
M(X) = 9.3390

+
D(X) = 10.0376

012131 45 65[6
X = 4, 8, 11, 12, 16
p = 8, a, b, 34, 6
M(X) = 10.2148

+
D(X) = 6.1835

012131 45 65_ 6
X = 3, 7, 10, 14, 15
p = b, 34, 47, a, 3
M(X) = 10.0565

+
D(X) = 9.8275


